[ Efficiency vs vertpos |
0.8

s s
P Y e A R I AR R
> o : :
FOR0 - ~EEERTRRPET SR S :
c - . .
o E : :
O T SUCITLTLLEE EERRRRE T
3] r : :
R TS
% SR B S Pl
0.2F - frorivmrmrmrmemeitennees R R
C 1 : : T : 1
0T T e e
BT gt
2 %t : : ]
A : : :
nd [ !
- P ST . 111

10

1

10 0?
TP vertr (cr%)

Efficiend

—s=— DQM_V0001_R000000001__Global__mkFit_baselinel
—— DQM_V0001_R000000001__Global__mkFit_batch1

~n 0.2

B 0.18F e beeeeedi]
0 E
2016 b i
> -
LC) o
SO.14F b
o n
042 e
[ o

ok ]
0.08
0.06
0.04
0.02

.................

.................

..............................

...................

...................

L 0OF

Ratio
N
T

0.95!

[ Efficiency vs. sim PV z |

0

10 20 30
TP vert z (cm)

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
[}
(&}
£0.05
()

0.04

0.03

0.02

0.0

1.0

Ratio

4
T

10 -8

6 -4 -2 0 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


